a thhuwm.ou:m-uwhw
osl, OFFSET varl
oox, 4
eax, 100h

mov
mov
mov

Ll add  ax [esi)
add &
add




want @AX 10 contain the sum of the varl amay.
three instructions to be able 1o do so.

;om.mm

ebx, offset alist
eax, (ebx)

cax, [ebx+d4]
eax, [ebx+2]
[ebx+6), eax









Lusation 43 (10 pojyyy)

bytel
byte2
word |
wond!
wand |
wonld
dwond)
LRYITT

Implement 1he Tllowing expressiom
may modify any reglasters von wish)

iy
nyry
WORD
WoRp
SWonrn
SWonn
DWORD
DWORD

b U
('
OFFER, 12
|

RARE N Y
EUNEY

LS N Y

DAL &

poT——,

" eax ='dwordl +'ebx - ecx
! eax = -dwordl + (edx- ecx) + 1

aem

oy g

wing Lo DA g

Output the lowest and the

highest value.

6
Program to find the lowest and the highest value among
in the program. Output the original numbers using  loop.



42561 10 Binary

SEBAw o Binary
TABD« 1 Octal 765 1o Dosidt
2BF 1o Decimal 46654 1w Hexadecimal

i



